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P 0                                                                    │


│  K7      START     A0       B0       C0       K2                K1   │


├──] [──────] [──────] [──────] [──────] [──┬───]/[───────────────( )──┤


│                                           │                          │


│  K1                                       │                          │


├──] [──────────────────────────────────────┘                          │


│                                                                      │


│                                                                      │


│  K1       A1       K3                                           K2   │


├──] [──────] [──┬───]/[──────────────────────────────────────────( )──┤


│                │                                                     │


│  K2            │                                                     │


├──] [───────────┘                                                     │


│                                                                      │


│  K2       B1       K4                                           K3   │


├──] [──────] [──┬───]/[──────────────────────────────────────────( )──┤


│                │                                                     │


│  K3            │                                                     │


├──] [───────────┘                                                     │


│                                                                      │                                                                       


│  K3       C1       K5                                           K4   │


├──] [──────] [──┬───]/[──────────────────────────────────────────( )──┤


│                │                                                     │


│  K4            │                                                     │


├──] [───────────┘                                                     │


│                                                                      │                                                                       


│  K4       C0       K6                                           K5   │


├──] [──────] [──┬───]/[──────────────────────────────────────────( )──┤


│                │                                                     │


│  K5            │                                                     │


├──] [───────────┘                                                     │


│  K5       B0       K7                                           K6   │


├──] [──────] [──┬───]/[──────────────────────────────────────────( )──┤


│                │                                                     │


│  K6            │                                                     │


├──] [───────────┘                                                     │


│                                                                      │


│                                                                      │


│  K6       C0       K1                                           K7   │


├──] [──────] [──┬───]/[──────────────────────────────────────────( )──┤


│                │                                                     │


│  K7            │                                                     │


├──] [───────────┘                                                     │


│                                                                      │


│  K1                                                             YA   │


├──] [────────────────────────────────────────────────────────────(S)──┤


│  K2                                                             YB   │


├──] [────────────────────────────────────────────────────────────(S)──┤


│  K3                                                             YC   │


├──] [────────────────────────────────────────────────────────────(S)──┤


│  K4                                                             YC   │


├──] [────────────────────────────────────────────────────────────(R)──┤


│  K5                                                             YB   │


├──] [────────────────────────────────────────────────────────────(R)──┤


│  K6                                                             YA   │


├──] [────────────────────────────────────────────────────────────(R)──┤


│                                                                      │





#program mazak


#def	START	x0.0	;Button "Start"





#def	A0	x1.0	;Motor A in  


#def	A1	x1.1	;Motor A out  


#def	B0	x1.2	;Motor B in  


#def	B1	x1.3 	;Motor B out  


#def	C0	x1.4 	;Motor C in  


#def	C1	x1.5 	;Motor C out  	





#def	YA	y0.1	;Motor A go out  (command)


#def	YB	y0.2	;Motor B go out  (command)


#def	YC	y0.3	;Motor C go out  (command)





#reg 	bit 	K1,K2,K3,K4,K5,K6,K7	;Internal users registry of the step




















	ld	K7


	and	START


	and	A0


	and	B0


	and	C0


	or	K1


	anc	K2


	wr	K1





	ld	K1


	and	A1


	or	K2


	anc	K3


	wr	K2








	ld	K2


	and	B1


	or	K3


	anc	K4


	wr	K3








	ld	K3


	and	C1


	or	K4


	anc	K5


	wr	K4








	ld	K4


	and	C0


	or	K5


	anc	K6


	wr	K5








	ld	K5


	and	B0


	or	K6


	anc	K7


	wr	K6











	ld	K6


	and	C0


	or	K7


	anc	K1


	wr	K7














	ld	K1


	set	YA





	ld	K2


	set	YB





	ld	K3


	set	YC





	ld	K4


	res	YC





	ld	K5


	res	YB





	ld	K6


	res	YA	











Possible problems of this algorithm:


System may remain in the given step so short time that the solenoid can’t shift the valve to the new position.


The program is inactive after the start, because step seven (end state) variable K7 is false. You can add parallel line to K7 switch at line one which is true only in first PLC cycle over PLC start.
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